CODE["

EXPANDING A BRAGKET [1]

REAXER
B

A C D E F G H |
2a+6 2a+2b+2 3a-h da+1 2a+2b 4da+4b+4 2a+2 3a-2 3a+3b
] K L M N 0 P 0 R
3a+1 da+hb+1 3a+3b-3 3a-3b+3 3a-3b 3a+3 3a-hb 4a+4 2a+2b+4
S T U ] W K Y 4
2a+3 2a+4 3a-6 6a—3 3a+3b+3 3a-9 da+4b+1 3a+b

Answer the questions helow and link your answers to the table ahove. Rearrange the letters you get to spell two words that are used in

maths.
Expand... Expand... Expand... Expand... Expand...
4(a+1) 3(a+1) 2(a+2) 2(a+3) 3(a-2)
Letter: Letter: Letter: Letter: Letter:
Expand Expand Expand Expand... Expand
3(a-h) 3(a+Dh) 2(a+Db) 4(a+b+1) 3(a+b -1)
Letter: Letter: Letter: Letter: Letter:
Expand Expand... Expand... Expand Expand
3(a-b+1) 2(a+b+2) 2(@+1+2) 3(2+a-1) 3(l+a-3)
Letter: Letter: Letter: Letter: Letter:
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ERS

EXPANDING A BRAGKET [1]

ARSW
A

B C D E F G H |
2a+6 2a+2b+2 3a-h da+1 2a+2b 4da+4b+4 2a+2 3a-2 3a+3b
] K L M N 0 P 0 R
3a+1 da+hb+1 3a+3b-3 3a-3b+3 3a-3b 3a+3 3a-hb 4a+4 2a+2b+4
S T U ] W K Y 4
2a+3 2a+4 3a-6 6a—3 3a+3b+3 3a-9 da+4b+1 3a+b

Answer the questions helow and link your answers to the table ahove. Rearrange the letters you get to spell two words that are used in

maths.
Expand... Expand... Expand... Expand... Expand...
4(a+1) 3(a+1) 2(a+2) 2(a+3) 3(a-2)
Letter: | Q Letter: | O Letter: | | Letter: | A Letter: | U
Expand Expand Expand Expand... Expand
3(a-h) 3(a+Dh) 2(a+Db) 4(a+b+1) 3(a+b -1)
Letter: | N Letter: | | Letter: | E Letter: | Letter: | |
Expand Expand... Expand... Expand Expand
3(a-b+1) 2(a+b+2) 2(@+1+2) 3(2+a-1) 3(l+a-3)
Letter: | V| Letter: | R Letter: | A Letter: | O Letter: | U
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